H & 0l & At H A M

20188 =& 1 3 LEeH M AlL

i

S ZHZAILD
3 NI 2435

S HNEE EEE (Sl &)
S - B SRI(BA) - HNRAY - BES il &k p[EL" HimEST

M Al 26,003,556 22,384,587 3,618,969

= 1,300,406 1,231,406 69,000

Xl 2,988,008 2,653,018 334,990

£ 408,250 0 408,250

< 1,607,064 1,383,383 223,681

= 19,699,828 17,116,780 2,583,048

XNSEH -zt 367,860 296,840 71,020

o= 40,900 5,900 35,000

= 326,960 290,940 36,020

NSFHE-st 352,860 281,840 71,020

o= 35,700 700 35,000

= 317,160 281,140 36,020

XNSH gdst =8 281,460 280,340 1,120

201 LBH2AL| 39,060 37,940 1,120

01 Ar2teld| 12,460 11,340 1,120

Oger23A| 8,120 7,000 1,120

OUHDZ&ZH oIy 140&%58, 00004 8,120 7,000 1,120

HFABUZMW= 1,400 1,500 A100

o= 700 700 0

= 700 800 A100

201 LBH2AL| 1,400 1,500 A100

o= 700 700 0

= 700 800 A100

01 AtR2teltl 1,400 1,500 A100

OFAE FHLSA 1,400,000 1,400 1,500 A100

o= 700 700 0

= 700 800 A100

DAE0 A2 BAABZINLAS 70,000 0 70,000

o= 35,000 0 35,000

= 35,000 0 35,000

307 2I2t0|& 70,000 0 70,000

o= 35,000 0 35,000

= 35,000 0 35,000

02 QIZHHAAIEE R 70,000 0 70,000

Oa&E0l AR BAABZINLAS

2,000,0003*35H & Al 70,000 0 70,000

o= 35,000 0 35,000

= 35,000 0 35,000

LR &N & S5 A 774,684 385,287 389,397

= 82,326 82,326 0

o= 164,999 13,800 151,19

= 527,359 289, 161 238,198

NS0 2tel 774,684 385,287 389,397

= 82,326 82,326 0

o= 164,999 13,800 151,19

= 527,359 289, 161 238,198
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2A:
PSER
o e

o
chel:

ZHRIS Al
OIHAl otN & B5 e
KSR 2tel

a4

SA - B SRA(B) - HRAY - BES il & pE-L HimEE]
NEIE JIAEIYEE BSAY 29,997 27,600 2,397
= 14,999 13,800 1,19
= 14,998 13,800 1,198
403 XX HHSKE01H 29,997 27,600 2,397
= 14,999 13,800 1,19
= 14,998 13,800 1,198
02 SII2S0ICHEAI=E RAEF AL 29,997 27,600 2,397

OIIAEIJWE (USIHER]) BSAtd
42,5483 *705Jt 29,997 27,600 2,397
= 14,999 13,800 1,19
= 14,998 13,800 1,198
OIS =9 LPGAEMEE T ESAIE A 387,000 0 387,000
= 150,000 0 150,000
= 237,000 0 237,000
402 QI2EXHE0IHE 387,000 0 387,000
= 150,000 0 150,000
= 237,000 0 237,000
03 QIZtRIEAIAHI 387,000 0 387,000
SUHELPCASEMEYT 25 Al
387,000,000 387,000 0 387,000
= 150,000 0 150,000
= 237,000 0 237,000
HSAE2Z 2 495,220 95,220 400,000
£ 400,000 0 400,000
= 10,000 10,000 0
= 85,220 85,220 0
SN2 495,220 95,220 400,000
£ 400,000 0 400,000
= 10,000 10,000 0
= 85,220 85,220 0
SR AIZ B3 ALY 400,000 0 400,000
£ 400,000 0 400,000
401 AlIEHILSOHY] 400,000 0 400,000
£ 400,000 0 400,000
01 Al&HI 400,000 0 400,000
QYA AIY SHSIAII (S8 H)

400,000,000 400,000 0 400,000
£ 400,000 0 400,000
S 2zt 248,600 96,600 152,000
= 73,500 60,000 13,500
= 175,100 36,600 138,500
SN XNA2S 248,600 96,600 152,000
= 73,500 60,000 13,500
= 175,100 36,600 138,500
I NEExEZ3 N 57,000 30,000 27,000
= 28,500 15,000 13,500
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2A: RS AID
g2 EXmA gdst
=2 EXNRX N2 (el &)
SA - B SRA(B) - HRAY - BES il & pE=L HimEE]
o 28,500 15,000 13,500
307 GI2+0|& 57,000 30,000 27,000
o= 28,500 15,000 13,500
= 28,500 15,000 13,500
02 QIHHAAIHELS 57,000 30,000 27,000
OFNIY AnNses B3 X2
57,000,000& 57,000 30,000 27,000
o= 28,500 15,000 13,500
= 28,500 15,000 13,500
A8 J|EE AR 150,000 45,000 105,000
o= 45,000 45,000 0
= 105,000 0 105,000
401 AlEHILSOHY] 150,000 45,000 105,000
o= 45,000 45,000 0
= 105,000 0 105,000
A2 150,000 45,000 105,000
OXEFsSHAl HAWH X AT A
150,000,000& 150,000 45,000 105,000
o= 45,000 45,000 0
= 105,000 0 105,000
SAHSSHX AIFSEIETA 20,000 0 20,000
207 AN 20,000 0 20,000
01 H1E4d| 20,000 0 20,000
OSMH2sSHA AIFEBSSETAL 14
20,000,000& 20,000 0 20,000
nE E4 2 o™, 22 SXSH 2,033,488 1,464,330 569, 158
= 69,000 0 69,000
Xl 417,218 153,618 263,600
£ 8,250 0 8,250
o= 114,411 47,511 66,900
= ,424.,609 1,263,201 161,408
= A 919,770 858,876 60,8%
Xl 100,800 75,800 25,000
£ 8,250 0 8,250
o= 47,787 39,220 8,567
= 762,933 743,85 19,077
dE 23 31,368 28,699 2,669
o= 12,547 11,480 1,067
= 18,821 17,219 1,602
Q14| 31,368 28,699 2,669
o= 12,547 11,480 1,067
= 18,821 17,219 1,602
04 JIRIH2 2 EE 31,368 28,699 2,669
O Aeldy HNSAEAL BHXIAIS
31,368,000 31,368 28,699 2,669
o= 12,547 11,480 1,067
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2A:

X XH -
oS-

A
o
U8 SN oy, 224 SX8d

CHol: LHAIQIS AlRCHE (Sl &)
SA - B SRA(B) - HRAY - BES il &y pE-L HimEE]

‘ o 18,821 17,219 1,602

URI2|ME 2S(XHA) 4,342 4,367 A25

101 21248| 4,342 4,367 N5

04 JIRIH2Z2 R EE S 4,342 4,367 N5

O2016-20174 FHAAEA EI &S 4,341,830 4,342 4,367 N5

2xtel etEtE X 8,250 0 8,250

£ 8,250 0 8,250

201 LeH=2| 8,250 0 8,250

£ 8,250 0 8,250

01 At2teld| 8,250 0 8,250

Ogxiel e Xz XId(S8d) 8,250,000& 8,250 0 8,250

£ 8,250 0 8,250

0=1g =4 50,000 0 50,000

Xl 25,000 0 25,000

o= 7,500 0 7,500

= 17,500 0 17,500

402 QIZ2EXHE0(HE 50,000 0 50,000

Xl 25,000 0 25,000

o= 7,500 0 7,500

= 17,500 0 17,500

02 QIZFRH2 A 22 (01 M THE) 50,000 0 50,000

O0rE21e SEAZ(19H2) 50,000,000& 50,000 0 50,000

Xl 25,000 0 25,000

o= 7,500 0 7,500

= 17,500 0 17,500

ARIEDIIE SHAE 428,454 105,454 323,000

Xl 316,418 77,818 238,600

< 33,611 8,291 25,320

= 78,425 19,345 59,080

AEIED Y SHXIR(LRIEE) 330,000 80,000 250,000

Xl 247,500 60,000 187,500

o= 24,750 6,000 18,750

= 57,750 14,000 43,750

307 GI2+0|: 330,000 80,000 250,000

Xl 247,500 60,000 187,500

o= 24,750 6,000 18,750

= 57,750 14,000 43,750

03 LAHHHHEE2IHIEE 330,000 80,000 250,000

OASIRD Y SEXIE (LRRIEE)

330,000,000 330,000 80,000 250,000

Xl 247,500 60,000 187,500

o= 24,750 6,000 18,750

= 57,750 14,000 43,750

ABIE D1 SEXIR (AN 59,454 0 59,454

Xl 41,618 0 41,618

o= 5,351 0 5,351
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FA B
M N =4 Y oHH, 225 EXIEN
e A t

S - ZB - SR(BH) - RA - BES ol &bt plEE"

M

12,485

307 212+0I1A 59,454

41,618
5,351
12,485

M=

OO O O O g

BIEx 59,454

59,454,000& 59,454
41,618

5,351
12,485

A
coco o

ARIEDE AM/2EE XIZAR 39,000 25,454

27,300 17,818
3,510 2,291
8,190 5,345

M=

307 212+01& 39,000 25,454

27,300 17,818
3,510 2,291
8,190 5,345

M=

03 BIZIHHEE2EHIEx 39,000 25,454
A

39,000,000& 39,000 25,454
27,300 17,818
3,510 2,291
8,190

M=

Xy HEUNR| A 185,264

69,000
33,013
83,251

MW

AEEY FENE A 46,320

24,000
5,760
16,560

Mo

307 212+01& 46,320

24,000
5,760
16,560

MW

S 46,320

=
OQI2AHI(2IHA 4H+6IHE) 43,200,000& 43,200
24,000
5,760

MW

OFdus=AEIE K& 2,400,000 2,400
iz N 720,000& 720

FEYAel At 138,944

45,000
27,253
66,691

(&2}
OOOOOOOOOOOOOOOOOOOOOOO§
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M BHEAID
Hu: D8 =X Y 0N, 22X =N
ool NAFEE HEUTR| A (Sr9): &)
2N -3 - AA(3) - HRAY - BES Ofl &kt J|1HH HwES2
201 LBr2gy| 400 0 400
01 AL 22l 400 0 400
OHU22X DEANLS| 4021215
400,0002 400 0 400
307 2120 F 138,544 0 138,544
2 45,000 0 45,000
= 27,253 0 27,253
2 66,291 0 66,291
02 SIFHAARYEE 138,544 0 138,544
OQIH | (BEFJISBHINEEIL 10«6 HS
112,500,002 112,500 0 112,500
2 45,000 0 45,000
= 20,250 0 20,250
2 47,250 0 47,250
ODN8FTY P2 Y FUDS=AHIS N
23,344,002 23,344 0 23,344
= 7,003 0 7,003
2 16,341 0 16,341
OFNBEZ K2 2,700,002 2,700 0 2,700
oMY 2 FHEAINM 3,762,59% 3,717,59% 45,000
2 1,087,080 1,087,080 0
= 225,939 218,439 7,500
2 2,449,575 2,412,075 37,500
& =B 2,078,740 2,063,740 15,000
2 9,500 9,500 0
= 31,242 23,742 7,500
2 2,037,998 2,030,498 7,500
o 28 Rt YFY X 15,000 0 15,000
= 7,500 0 7,500
2 7,500 0 7,500
400 QIRHRHZ01% 15,000 0 15,000
= 7,500 0 7,500
2 7,500 0 7,500
VAR EI=TES ()] 15,000 0 15,000
OBy 28 vt Y 2 15,000,002 15,000 0 15,000
= 7,500 0 7,500
2 7,500 0 7,500
DS 336,880 306,880 30,000
= 60,000 60,000 0
2 276,880 246,880 30,000
yn2U2Y 136,880 106,880 30,000
401 AIEBI L2 TH| 130,900 100,900 30,000
01 A& 130,000 100,000 30,000
OMSEHAIL A& 1002, 000,00024 20,000 0 20,000
OXIZHAIH Zbl 2944:45,000, 0002 10,000 0 0,000
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2A: RS AID
HE: CADHY
=2 XBIEsE SADIBtEd (Sl &)
SA - B SRA(B) - HRAY - BES il & pE-L HimEE]
SAIDNE 10,970,366 9,386, 160 1,584,206
Xl 2,499,000 2,499,400 2400
= 738,000 811,200 273,200
= 7,733,366 6,075,560 1,657,806
NEIbse SADIBES 7,631,366 6,083, 160 1,548,206
Xl 300,000 300,000 0
= 450,000 500,000 250,000
= 6,881,366 5,283,160 1,598,206
SAIASE JH| 46,000 26,000 20,000
401 AlEHILSOHY] 40,000 20,000 20,000
01 Al&HI 40,000 20,000 20,000
OdatilE TAIESE EAEXIAE
20,000,000& 20,000 0 20,000
SAHEEZHE 700,000 600,000 100,000
401 AlIEHILSOHY] 700,000 600,000 100,000
01 Al&HI 697,120 600,000 97,120
O3M SAHEESZ(2-18H) HESAL
397,120,000 397,120 300,000 97,120
03 Al&=0Hd| 2,880 0 2,880
O2M ZAHESZ(2-15H) HESAF AIER
CHBl 400, 000,000&*0.72% 2,880 0 2,880
SAHEEZIHE(BX) 1,400,000 1,500,000 100,000
= 400,000 500,000 100,000
= 1,000,000 1,000,000 0
401 AlIEHILSOHY] 1,400,000 1,500,000 100,000
= 400,000 500,000 100,000
= 1,000,000 1,000,000 0
01 Al&HI 1,393,700 1,493,700 100,000
OMAETAIHETZ(3-75) HESA
446,850,000 446,850 496,850 250,000
= 200,000 250,000 250,000
= 246,850 246,850 0
OAIRTAIHEEZ(2-465) HESA
946,850,000 946,850 99,850 250,000
= 200,000 250,000 250,000
= 746,850 746,850 0
SAHEANE R E S 1,266,300 962,000 304,300
401 AlEHILSOHY] 1,266,300 962,000 304,300
01 Al&HI 1,260,000 960,000 300,000
OADHIU HHatE X 150,000,000& 150,000 100,000 50,000
OAIDIAl A& & OHE S QHNAIE B
200,000,000& 200,000 100,000 100,000
OZAMHEEZ ALE 150,000,000& 150,000 50,000 100,000
OAIIHRI D125 A& ZAt 150,000,000& 150,000 100,000 50,000
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SA:
X XH -
(e

o
chel:

ZHS AL
SADHE
KZIbss TADIBES

SA - B SA(SH) - NRAYS - BES il & p[EE" HimE==}
03 AIZ=0HH] 6.300 2,000 4,30
OAERTHHI 1,000,000, 000240, 63% 6.300 2,000 4,300
ENEEENS 2,303,906 1,280,000 1,023,906
401 Al&2HI2=ChY| 2,303,906 1,280,000 1,023,906
o1 A&t 2,300,000 1,280,000 1,020,000
OSHAIIIN &= (LF) =2 HEBAl
200,000, 0002 200,000 0 200,000
OS4r2] GAOISUSNAE TLA
270,000, 0002 270,000 0 270,000
OX2ICIS=BY ZLAY 160,000, 0002 50,000 0 50,000
OUSSHATINIZEIIZELAY 400,000,002 400,000 0 400,000
03 Al THH| 3,906 0 3,906
OA&=CHH| 620,000, 00024+0.63% 3,906 0 3,906
SABT ZHIAL 200,000 0 200,000
= 50,000 0 50,000
2 50,000 0 50,000
401 Al2HI 2= ChY| 200,000 0 200,000
= 50,000 0 50,000
2 50,000 0 50,000
01 A&t 98,560 0 198,560
O+ AHZBLTHIAY 198,560, 0002 98,560 0 198,560
= 50,000 0 50,000
2 148,560 0 148,560
03 Al THH] 1,440 0 1,440
OA&=CHH| 200,000, 000240, 7242 1,440 0 1,440
SESHTSEEHLBP) 2,949,000 2,913,000 3,000
7 1,926,000 1,926,400 A400
= 253,000 272,200 219,200
2 770,000 714,400 55,600
SESANZSEAY 95,000 57,000 38,000
201 YBr2t] 38,000 19,000 9,000
03 A2 IH] 19,000 0 9,000
OsESHTSESAIY SAXIR
19,000, 0002 9,000 0 9,000
207 AN 57,000 38,000 9,000
01 S gl 57,000 38,000 9,000
OIIEZMEHFAME OHIHESRB
19,000, 0002 9,000 0 9,000
SESAXESSHAIEE) 175,000 175,000 0
7 51,000 51,000 0
= 7,000 24,000 A17,000
2 117,000 100,000 17,000
401 Al&2HI2=ChY| 50,000 175,000 225,000
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SA:
X XH -
(e

o
chel:

ZHS AL

SA - B - S9(3) - NRAY - BaS il &y plE-T HmE==!
Al 51,000 51,000 0
= 7,000 24,000 A17,000
= 92,000 100,000 28,000
01 Al&HI 150,000 175,000 25,000
OAlEYH sESaXEdstArE 150,000,000& 150,000 175,000 25,000
Xl 51,000 51,000 0
= 7,000 24,000 A17,000
= 92,000 100,000 28,000
405 XHHESH| 25,000 0 25,000
01 AL = ZF =] 25,000 0 25,000
OAlEH sESaXEdstAE =357
25,000,000& 25,000 0 25,000
SESHXEESH(SHMY) 1,442,000 1,442,000 0
Xl 1,009,000 1,009,000 0
= 130,000 131,000 21,000
= 303,000 302,000 1,000
403 XIS SAH=01& 1,442,000 1,442,000 0
Xl 1,009,000 1,009,000 0
= 130,000 131,000 21,000
= 303,000 302,000 1,000
02 I 2S0lICHe =X LIS AL 1,442,000 1,442,000 0
O=SAMY sES XS
1,442,000,000& 1,442,000 1,442,000 0
Xl 1,009,000 1,009,000 0
= 130,000 131,000 21,000
= 303,000 302,000 1,000
SESANEESHMEHN) 766,000 767,000 21,000
Xl 536,000 536,000 0
= 69,000 70,000 21,000
= 161,000 161,000 0
403 XIS SAH=01& 766,000 767,000 1,000
Xl 536,000 536,000 0
= 69,000 70,000 21,000
= 161,000 161,000 0
02 I 2S0lICHe =X IS AL 766,000 767,000 21,000
Od=z=H sESXEd=tAlE 766,000,000 766,000 767,000 1,000
Xl 536,000 536,000 0
= 69,000 70,000 21,000
= 161,000 161,000 0
SESAUXELESH(AEY) 471,000 472,000 21,000
Xl 330,000 330,400 A00
= 47,000 47,200 A200
= 94,000 94,400 A400
403 XIS SAH=01& 471,000 472,000 21,000
Xl 330,000 330,400 A400
= 47,000 47,200 A200
= 94,000 94,400 A400
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o BHEZ A
DO CAIDNE
D SESAXEHFHLYERT)

SA - B - S9(3) - NRAY - BaS il &y pE-L HmE==!
02 BJ12S0lIcHet = gl 471,000 472,000 21,000
OLSH sESXEdE=AE 471,000,000 471,000 472,000 1,000
Xl 330,000 330,400 A00
= 47,000 47,200 A200
= 94,000 94,400 A00
SAXNELSHEEXT) 390,000 390,000 0
Xl 273,000 273,000 0
= 35,000 39,000 24,000
= 82,000 78,000 4,000
ESAXEESH(AES) 390,000 390,000 0
Xl 273,000 273,000 0
= 35,000 39,000 24,000
= 82,000 78,000 4,000
403 MXIHHSAH=01E 390,000 390,000 0
Xl 273,000 273,000 0
= 35,000 39,000 24,000
= 82,000 78,000 4,000
02 BJ|2S0lcHet = gl 390,000 390,000 0
OHEs sESaX 2 390,000,000 390,000 390,000 0
Xl 273,000 273,000 0
= 35,000 39,000 24,000
= 82,000 78,000 4,000
HE A 6,460,3% 6,099, 186 361,210
= 62,000 62,000 0
Xl 71,790 0 71,790
= 239,315 216,533 22,782
= 6,087,291 5,820,653 266,638
nESEZMNA 1,997,471 1,809,031 188,440
= 39,000 39,000 0
Xl 71,790 0 71,790
= 77,130 55,200 21,930
= 1,809,551 1,714,831 94,720
WEENAHE 103,965 65,965 38,000
201 ZeH=2E| 54,450 35,950 18,500
01 Al22teld] 31,710 13,210 18,500
O XLt UE = B=EAIAE 2
16,000,000& %14 16,000 0 16,000
OEctEstUEAl 018 &
50,000&*500H0+= 2,500 0 2,500
207 AN 19,500 0 19,500
01 H1E24d| 19,500 0 19,500
Os0HEHA 28+ 2 o7 =29
19,500,000& 19,500 0 19,500
st 28 A 160,000 140,000 20,000
307 @I2+0|: 160,000 140,000 20,000
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M FRSAI
HE: DEBH M
o9l DESAMM (Sl &)
SA - BB CRI(3)) - MIRAIY - BYS O b plb-E HlImE==T
02 S BSNS BE 760,000 740,000 20,000
OSERELCHDEAN2UA) 29H| X2
40,000, 00024 #4CH 160,000 140,000 20,000
SEEH NE0Y L2AY(SEHE HYLAl 28 ) 233,720 140,000 9,720
X 71,790 0 71,790
= 71,930 50,000 21,980
2 90,000 90,000 0
01 YerEA3 233,720 140,000 9,720
X 71,790 0 71,790
= 71,930 50,000 21,980
2 90,000 90,000 0
11JIEr2 a2 233,720 140,000 9,720
Os0EHA DX} Seresigeiil 230
12 FUNIN(5EE) 233,720, 0002 233,720 140,000 9,720
X 71,790 0 71,790
= 71,930 50,000 21,900
2 90,000 90,000 0
DENESZR 675,800 640,400 35,400
201 Yoy 55,800 50,400 5,400
01 AFR2I2IH] 16,000 13,000 3,000
ogur2g| 16,000 13,000 3,000
OHARSA BESIEY A2F 79
60, 0002147} 2:+5080X 12,000 9,000 3,000
02 Z22| 39,800 37,400 2,400
O=Z23 2 MA 39,800 57,400 2,400
0MES(ZRS) ®IIR3
20,00021+1457 A% 122 34,800 33,360 1,440
OHARSE FIIQB(4HL)
250,00021 122 3,000 2,040 960
401 A&BIL 20| 620,000 590,000 30,000
01 Al&t] 620,000 590,000 30,000
ONENTAILE DEAS QITD} D& 620,000 590,000 30,000
OSBIEBRICIS (CTV A AIRI(3HL)
70,000, 0002 70,000 40,000 30,000
SHUsAC SICZHD| 72 1,320 0 1,320
405 XHoFISH] 1,320 0 1,320
01 HALSEF S| 1,320 0 1,320
OSERELC IIS2HI| 72
330, 00024 +4CH 1,320 0 1,320
SAAHRIA 4,416,925 4,244,155 172,770
= 165,285 154,433 852
2 4,261,640 4,089,722 71,918
ST DESEA 31,325 %, 155 A8
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S HRISAID
M DSHH I
SHol: 22N THE X (Sr9): &)
2N -3 - AA(3) - HRAY - BES Ofl &kt J|1HH HwES2
= 70,285 9,433 32
z 21,040 22,722 A1,682
101 21218 31,325 2,155 830
= 10,285 9,433 g2
z 21,040 22,722 A1,682
04 IRIM2ZNS2 S 31,325 2,155 2830
OHR-H DSTEAR OR1H 31,324,802 31,325 %, 165 £830
= 10,285 9,433 g2
= 21,040 22,722 A1,68
= TIPNNES TS 134,000 0 134,000
201 UBr2Yy| 2,000 0 2,000
01 ArR 22| 2,000 0 2,000
OBYH~ 24 1,000, 00024+2CH 2,000 0 2,000
405 THAHFISH] 132,000 0 132,000
01 AHIYLEZF S| 132,000 0 132,000
OBYHA 21 HHRY
66,000, 00024+2CH 132,000 0 132,000
Al SBOIED| £X NRARY 39,600 0 39,600
307 BI2H0IH 39,600 0 39,600
02 BRIFMAIEE 39,600 0 39,600
OSHAl SBIOIED] 2| KA
528,00024+75CH 39,600 0 39,600
HREE(ZHSAID 636,328 589,350 46,978
EEES 46,978 0 46,978
EEE 46,978 0 46,978
802 BI&r20Er 46,978 0 46,978
@ Al- SHIZZ2EEa 46,978 0 46,978
020178 AAB(NTH) WSHE Faizoy
9 OIXteY Bt 03,5502 104 0 104
020178 SHIDS4E R2EZ SHE N
OIXt Bret 60! 1 0 1
020171 AIISSISNST SEOIS JANE
IR SR KIFAIY DSTIH o1 O[RHY BHet
26,487,710% 26,488 0 26,488
020174 28 FHR S L0H2t AXIT
A FEE 91 O|RFY BHt 1,466,070% 1,467 0 1,467
02017 AlLH. SOIEHAH HBXIRA &
SO I 0| X0 Bt 91,2302 91 0 912
02017 Al ZXHSAIARRS OIXIOY BH
213,690% 214 0 214
020178 HXd SAPAS XA D
of 91 O|XfoY BHt 464,950% 465 0 465
02017 =X DEBEA 0122 XIRAY
OIXteY Bhet 37,1602 38 0 38
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Al & 0l &F Al

Al A

2018HE =& 1 3| LNAFHIAXALESEIH ZHSAID
2A: BHZAl
M HRES(ZHTAIR)
ol BRXB(LHAZHIANALSLS|H) (Er2l: &)
A - B S9(3) - HRAY - BES il &y pE-L HimE=]
BRI Al 1,775,588 1,857,738 217,850
= 340,000 336,000 4,000
= 1,435,588 1,221,738 213,850
HRss(ZHEAID) 6,925 0 6,925
BAEXNES(LHLFHI| AR AL EEZ|H|) 6,925 0 6,925
BXIpHE= 6,925 0 6,925
802 Btet=J|Et 6,925 0 6,925
01 SNEXZ8HEza 6,925 0 6,925
OC20173 LHAFHXA XHAKE Ol KHeHef
6,925,000 6,925 0 6,925
LML = XS Z| 1,584,000 436,000 1,148,000
= 340,000 336,000 4,000
= 1,244,000 100,000 1,144,000
LEAFAT A A (LHAFHT AT AL ESSIH) 1,584,000 436,000 1,148,000
= 340,000 336,000 4,000
= 1,244,000 100,000 1,144,000
LEAFHEIS =X XA 300,000 100,000 200,000
501 8it= 300,000 100,000 200,000
01 eIt Xt= 300,000 100,000 200,000
O EINF=IN = 10,000,000 *30I+* 300,000 100,000 200,000
LEATHAT|AXIZ AL (S SAIEISX) 340,000 336,000 4,000
= 340,000 336,000 4,000
AlEHIZ RO 340,000 336,000 4,000
= 340,000 336,000 4,000
01 Al&HI 340,000 336,000 4,000
OYEAFHISA XIAAS 340,000,000 340,000 336,000 4,000
= 340,000 336,000 4,000
L AFHXIS XA (XA 944,000 0 944,000
307 GI2+0|: 13,000 0 13,000
02 QIHHAAIHELS 13,000 0 13,000
02016-2017 LEAFHXSA XA
13,000,000& 13,000 0 13,000
401 AlEHILSOHY] 557,000 557,000
01 Al&HI 557,000 0 557,000
020152017 LHAFHXS XIZ A
557,000,000 557,000 557,000
402 QIHXHE01A 374,000 0 374,000
01 QIZFXHE2 A B (KEXITHE) 374,000 0 374,000
020152017 LHAFHXS XIZ A
374,000,000 374,000 0 374,000




S ZHZAIL

S olHIB(LALAFHISXIAID)
el OlHH(ZAAFHTIS XA ) (LEAZHI AKX AL S SSIH) (2l &)
SA - B SRA(B) - HRAY - BES il & pE-L HimEE]
OlEI(ZEAFHX AR RALY) 184,663 1,121,738 A937,075
OlHIBI(ZEAFHRISARIKAN) (LA FHT AR ALY 184,663 1,121,738 A937,075
SE3IH)
ollg1g| 184,663 1,121,738 A937,075
801 oildldl 184,663 1,121,738 937,075
01 ZEtiibIbl 184,663 1,121,738 A937,075
OZrdAFHIIA ol 184,663 1,121,738 A937,075
0I12XI&A Uz 0 944,000 A944,000
0==RI= XA 184,663,000& 184,663 177,738 6,925

- 312 -




